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Rules for Multiplication and Division with Significant Digits

Multiply or divide the numbers and then round the answer to the same number of
significant digits as the number with the fewest number of significant digits.

2.3 x 3.55 = 8.165=8.2

2 sig fig 3 sig fig 2 sig fig

23 + 3.55 = 0.647887 = 0.65

| |
2 sig fig 3 sig fig 2 sig fig

Multiply or divide and round to the correct number of significant digits:

1. 235x1.2 282=238

2. 287+13 =

3. 13.456 x 12 =

4. 123.8+2.22 =

5. 123 x12 =
6. 555+23 =
7. 15.00x 2 =

8. 15.00+2.0 =

9. 15.00 x 2.00 =

10. 15.00+2.000 =
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